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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

RG] eI T GoT 79

1. Answer the following questions : 1x10=10

S NIRRTy Bl 2

() Give an example of ‘Singleton set’

G QN AT B Tt |

(i) What is the value of log 1000 ?
log 1000F 9 R ¢
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(iii) What is the value of 5Pg ? (vii)) Fill in the blank:

5P T W R 2 T I R ¢
(iv) State whether the following relationship d/dx (log x) = ...
is correct or not. | (viii) Fill in the blank :
W ” Ii;tﬁl ‘Qﬁ %ﬂziimml Qnﬁ'ﬁ mg
"C, ="C, -1 d/dx (T.R)=.....
(v) Define ‘Unit matrix’. where x denotes the volume of output.
7 GTeewe k@l | TS x-(7 Testifre AN AR TR
(vi) Choose the correct answer : (ix) Define “objective functions” associated
o eI Bl 4 ¢ with linear programming.
The line y=5x is : WRE dgwRr Fie e “Sfer® Fom'T
Y ’ e fadn
y=5x @R 3
(x) State whether the set given below is a
(a) Parallel to the x-axis null set or not.
x SHY TG o RO Bt R MRS WA fori |
(b) Parallel to the y-axis {2x-5=7}
Y TFY ARSI 2. Answer the following questions : 2x5=10
(c) Perpendicular to the x-axis O AN eI ol ¢
x Y SO T (i) Find the eighth term and tenth term of
4] Passing th " th o the series : 2, 4, 8, 16....
(d) Passing through the origin 2, 4, 8, 16.... ATNOF BT A% W A7
T RE wites Sk iR Iw fefa ==
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(i) X and Y are two sets such that '
| n(XvY)=50, n(X)=28, n(Y)=32.
' Find n(XNY). '
X% Y Gt 75! AR TS n(XuY)='50,
n(X)=28 W n(Y)=32. n(XnY)

et =1 |
(iii) Prove that (24 3 @) : '
1 1 1 T,f

+ + =
log, abc log,abc log,abc

(iv) Find the slope of the line passing
through the points (-3, -5) and (7, 9).

(-3, -5) =% (7 9) RN R wfomma
Sfereat)

(v) Find d/dx (x log x).
d/dx (x. log x) W@ 3=

3. Answer the follow1ng questlons 5x4=20 i

"~ (a) Prove that (ZNT"TW Q)3
Jl+a 1 1
-1 - 1+a 1 |=a®(a+3)

1 1 l+a
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(b)

Or/ 94t

3 1
Show that the matrix A =[ J
-1 2

satisfies the following matrix equation :
A2-5A+ 7I=0, where O denotes the

1 O
2x2 zero matrix and I=|: ]

o 1

3 1 |
CW’N?"@A=[ ]@Wﬁmcﬁlﬁw

-1 2
AR P 3
A2_5A+7[=0 T© O G 2x2 U CIAFH

1 0]
@R o I = :

0o 1

logx logy logz

then prove that (CSTS &4 ¥4 @)
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(c)

@)

A man saved Rs. 16,500 in ten years.
In each year after the first, he saved
Rs. 100 more than he did in the
preceding years. How much did he
save in the first year?

G L TR IS 16,500 53 AL R |
Ay I=_T form Sl IO (08 W
TJ|OF 100 53 Q@AHE AR IR
NS AL IFS [ T AT IR 2

Or/9ql

If a¥* =pY¥ =c¥? and q, b, care in GP,
prove that x, y, z are in A.P.

W ¥ =p¥ =¥ =% a, b, ¢ SIS
Hifee A, &9 T T x, y, z AN
iifee A -

A sum of money invested at compound
interest amounts to Rs. 2,916 at the
end of two years and to Rs. 3,149.28
at the end of three years. Find the sum
and the rate of compound interest.

berf T ORI RS e 2 I e
2,916 T o o 3= Fime 3,149.28
B o | PR W SETa o TR R |
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(e)
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Or/ %t

In how many years will an annuity of
Rs. 400 amounts to Rs. 4064 at
3% p.a. compound interest ?

[Given : log1.03=0.0128 and

log (1.3048) = 0.1155]

FHR 3% vIgE T Jo© [N I=|© 400
iR ARSI e 4064 T =T 2

A committee of 5 is to be formed out of
7 male entrepreneurs and 4 female
entrepreneurs. In how many ways the
committee can be formed if at least one
female entrepreneur is to be included

in it ? ,
7 & oET T 4 RS M o
e [l 5 G IS G 915 I S |
2t FCNe IR A SRS AffeITS
m@aﬁamﬁ,mﬁmmwﬁw
sion BRT 7 IR P

or/9%dl
Of the 100 boarders of a hostel 80
drink tea, 40 drink coffee and 25 drink
tea and coffee both. How many of them
drink neither tea nor coffee ?

QAR «€51e 2 100 & SRR 80 T BIF, 40
o I A 25 G BIT W% I iRy I/
(OSTEIRA RN O BIT 12T FF G AT 2
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4.

(@

Solve the following system of equation
by using Cramer’s rule : 7

TN R o) AT T
N8
xX+y+2z=3
2x-3y + 5z=4
x+ 2y - 4z=-1
Or/ <}

A  manufacturer produces three
products A, B and C and sells in two
markets. Annual sales of these
products in the two markets are given
below :

9T TeAMTIRIT A, B S% C SRRy
Teov o oiRe R Berlifts ARTORR 729
Figs [Pl FI| IS [AS @F ANN
@3RI AT Rl o oofe fal tTxs
Products
A B c

Market I 10,000 2,000 8,000

F&R-])

units units units

Market II 6,000 20,000 4,000

(@ens-11)

units units units
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]

- 5. (a) Establish the equation of a line in the
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(i) If the unit sales price of A, B and
C are Rs. 25, Rs. 12 and Rs. 15
respectively, find the total

_ revenue in each market.

i A, BoR C @ T ol ofe
G AN AP 25 B, 12 59 Wi
15 59l =, (OrS S Toe g Rl
o a1

(i) If the unit cost of products A, B
and C are Rs.18, Rs. 10 and Rs. 8
respectively, find the gross profit.

If A, B O C T o ofe
G TR T T 18 T, 10 TH
msw@,mquﬁ@
FI|

(b) In how many ways the letters of the
word “ACCOUNTANTS” can be

arranged ? 3
«ACCOUNTANTS” *RI0I SRS e
$QTIE SR AR ?

form y=mx+¢. o

y=mx+c SC AR TN TorgIei
i
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6.

(b) The amount demanded of a commodity

is zero units when the price is Rs. 100
and 1000 units when the price is zero.
If the demand curve is assumed to be
a straight line, find its equation. )

(Il G5! IFI FEVN 100 Bl 20T IRWBR
SIfZAR IR 2 =W SR IR N =+
T 2R sifEmiT «ifRwe 1000 95 =7 | sifdat
IF Re I 4R 2T R [T 41

Or/ <34t

Find the equation of the line passing
through the point of intersection of the
lines 2x-3y+ 4=0 and 3x + 4y - 5=0
and perpendicular to the line

6x -7y+8=0.

2x-3y+ 4 =0 % 3x + 4y - 5=0 (U OLR
R WeEH @R 9% 6x - 7y + 8 =0 @R
Y QAR AT Tfere |

(a) G It (‘qﬁ)’ f(x)= Zﬁ:g, prove that

(2 7 ()

1 _
f(x)'-f—(;j—l 3

(ii) Evaluate : (N ey 1)

- (b) Find (i) the average revenue function
(AR) and (i) the marginal revenue
function (MR) for the following total
revenue function (TR).

TR=27Q-Q%/3 + Q3. 3+2=5
oo™ Y5 Rl oiF TeW (TR) ACATF (1) o0
R =T T (AR), (ii) 2T [kl wiw wog
(MR) {3 =11
TR =270-Q2/3 + Q3

Or/W#?f

Show that the maximum value of
x+1/xis less than its minimum value.

m@mx+1/x3ﬁﬁ$?ﬁﬁﬁwmﬂ¢l

%‘ (a) Integrate any two of the following :
\ 2X2=4

; oo Rt g S e 1 8

o (5o
2x-3

.o . . dx

® Ix2—3x+11 '

(i) [(3x+5x+10)dx
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Oor/g4<t
If the marginal revenue function is
R (x)=8-6x+2x®, determine the

total revenue function and demand
function.

I 2% B I TW R’ (x) =8 -6 + 2x2
=, (7% P R ToW 9IS 5ifwl wom Aoy a1

(b) Define “linear programming.” Discuss
briefly the importance and limitations

of linear programming. 6

WRe devr wE il @WRE gwwer

TS SN THTFTO! T=CE A 4 |
Or/W

Solve the following linear programming
problem by graphical method :

o (aRT E e T Y ARIC AL
908
Maximize Z=8x+ Sy
Subject to the constraints

x <1350
x+y <250
2x +y <500
xy=20.
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